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1-A 36.8 15.00 15.48 1.88 1.94 14.30 17.65 7.15 8.83
1-B 36.0 14.90 1516 186 1.90 1410 18.42 7.05 921
1-C 245 14,30 15,26 179 191 12,50 17.00 6.25 8.50
1-D 303 14.70 14.89 1.84 1.86 13.40 17.23 6.70 3,62
2-A 40.4 15.10 15.36 1.89 1.92 14.70 16.18 7.35 8.09
2-B 419 15.10 14,33 1.89 1.85 14.90 17.44 7.45 8.72
2-C 336 14.80 1521 185 1.90 13.90 16.30 6.95 815
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3-A 475 15.20 14.96 1.90 192 15.60 2051 7.80 10.26
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3-C 36.7 15.00 14,53 1.88 1.90 14.30 19.44 7.15 9.72
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4-A 49.0 15.30 17.40 191 218 15.70 20.10 7.85 10.05
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3A 404 1508 1419 189 142 1368 2329 850 1165
3-B 383 1501 14.38 1.88 1.80 1355 2312 .35 1156
3-C 334 1483 14,95 185 187 1223 24,42 7.98 1221
3-D 30.2 14.69 14.22 1.84 1.78 13.00 23.58 7.65 11.79
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1A 368 177 89 112810891 ] 132 | 66 0665 0.857
1B 36,0 184 92 117310926 131 | 66 0.660 0.851
1-C 245 17.0 85 1084 10856 | 115 | 58 0581 0.749
1D 303 172 86 1007 logee | 123 | 62 0624 0.804
2-A 404 162 8.1 1033 |0815] 136 | 68 0686 0,885
2-B 419 174 87 1109 [0876 | 137 | 69 0695 0,895
2-C 336 163 82 1039 0820 128 | 64 0645 0832
2-D 286 167 84 1065 0841 | 121 | 61 0612 0788
3-A 475 205 103 1307|1032 143 | 72 0724 0,934
3-B 414 178 89 113510896 | 137 | 6.9 0692 0.892
3-C 367 104 97 123710976 132 | 66 0665 0.857
3-D 339 152 76 0069 [0.765] 128 | 6.4 0647 0.834
4-A 490 201 101 1281 1012 145 | 7.3 0732 0,943
4-B 373 174 87 110910876 132 | 66 0668 0.861
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6-A 424 203 102 1204 110221138 | 69 0697 0,899
6-B 400 203 102 1294 11022 135 | 68 0684 0.882
6-C 315 174 87 1100|0876 | 125 | 63 0632 0814
6-D 313 175 8.8 1116 10.881] 125 | 63 0630 0812
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